ER-IERRREE-RR

TH5F6 A8 ARE
EXEE AREXIRE

BT HX RIRAT
ARESH [—RHEDRE KRR
BN S 2 E OB R _
- BKE) |ZREmElamaE [i8
(IWKE) |TEmEakEE [120
FEmEEREE |[BERIAB-], X5)RE-166
ok EE = -
HEANAKTR | o)1k RE) [SBIXE 8]
st [k BEEE
FE E 5 EE 20m/s
REE T EE 20m/s BEES
- =y iy 1205 % E D ZES 10cm
= REOZ L 12 BB E D EE200m
BE e
= B iz _
- REMEIEREE |
TERERREE [82
FEMEIESEE |BR)AE-56, XA )IRE-132
ok %ﬁgiﬁ*' KERIIGRE=(7, 13.2), BIFRE=(5, 17)
f‘gﬁfgg”‘ﬁﬁ KEVIARE N [ BIKAE EF48)
58 i, E 5 EE 12m/s
RE FHEE 12m/s EEES
= g ity 1285 R E O S 50m
= REOR i 1285 % = & 10cm
BE BERE
EER = B
z BEECIVREATEINLBE
BE
s 1RFE [100m
[7AC] BI/INTE40% CTEMZE60%
- QEEDREE0cmLl EHYBERBI10°CLL EF - I Y DR 2
Ex BEZE5CHT
] 48158 LI DOKE =IEXEBACUT
K
2= 28BS E DES : E#h20cml £ [Lh40ecmLl £
SiB:-2°c~2°C
e PN TBRE T100mm

NEREREEY RERESIER OHEAFSHhEICLSREEERLTILET.
*? SERARERSREDIHE,



